Test Booklet No.
YIAIART . D

Paper-1

Signature and Name of Invigilator Seat No.
1. (SigNature) .......cccveveeeveeeeeieeeeeeennn. (In figures as in Admit Card)
(NAME) oo Seat NO. .eeveiiiiiiieeeee e
2. (SIgNAtUre) .....ocvvevveeveeieieieeeeeeeen (In words)
(NAME) .o OMR Sheet No.

AUG-00115

Time Allowed : 1% Hours]

(To be filled by the Candidate)
[Maximum Marks : 100

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 60

o

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer an

fifty (60) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(0] To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(€25)] After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Paper 1
gyatent 1

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
g : (1) A yEAutehd 918 (60) Sgfae wed o o Y ween &M (2) MW
3R
(2) =R T (50) AT SWforn

1. L,M,N,PandQ appeared foratest. | 1. L, M, N, P a1for Q Tt =m=of qi&ret
M' scored better than P, but scored T M o P e sy o o,
less than L and N. L scored better tl"\_sl, L amfor N Uen s Nl fraar. !
than N. P scored better than Q. Lo N fen s o femal. P
Which of the following is the correct Q T = v f e W
descending order based on their )
performance ? ﬁaﬂmwmwﬁw
(A) LNMPQ TUTehH SrEledl ?

(B) NLMPQ (A) LNMPQ
(C) QPMNL (B) NLMPQ
(D) PQMLN (C) QPMNL
2. Based on the following statements, (D) PQMLN
which 90f the conclusion/s is/are 9. Eéﬁ fauri=ar snur, wrelteritR
gotlz'tegfn-ent I : Some leaders are EF\FJﬁ(Fﬂ)' FIEl At Adl 2
intelligent. faam I : FRl @ gfeam 3:“?3

Statement II : All the managers faom 11 : v cgaents gfgam
are intelligent. TR

Conclusion 1 :All the leaders are frews 1 @ wd 79 gfgam TR
intelligent. frems 2 @ wE aTATTR gfgam

Conclusion 2 :Some managers 3TTRA.

" are intelligent. (A) T 1

A) Only 1

(B) Only 2 (B) 1 2

(©) Both 1 and 2 (©) 19 2 <=

(D) Both 1 and 2 do not follow D) 192 S

3 [P.T.O.



Based on the following statements.

Which of the conclusion/s will

follow ?

Statement I : All tigers are
brave.

Statement II : Some brave
animals are kind.

Conclusion 1 :Some tigers are
kind.

Conclusion 2 :Tom is a tiger, so
he is brave.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Mohini, Nanda, Seema, Anisha and

Sangeeta are participating in a race.

At the end of the race, Seema was

ahead of Nanda but behind Anisha.

Mohini was behind of all. Sangeeta

was ahead of Seema. Who must be

the first three in order of finishing

the race ?

(A) Mohini, Sangeeta, Seema

(B) Sangeeta, Seema, Anisha

(C) Anisha, Sangeeta, Seema

(D) Seema, Sangeeta, Anisha

AUG - 00115/1—D
T faam= SER Wrefierdeh! Shivd

skt il adid 2

faam 1 @ wd 9 IR AR
faem 11 : *El IR 9ol <ore a1
fews 1 FE 9 TIE SR

freepel 2 @ @M 9™ o, WA A IR
R,

(A) w1
(B) e 2

©) 192 =&
(D) 19 2 3

Hifedt, 1, 1, 2AFIM o Gar T
e TEd 9T Sd oTRd. Tqet

qUUaTel desd W e Y@ W
Gt HrHTeAT g el Tt Soar afse
foeit o s/ ?

(A) =fet, gftan, e
(B) Gfar, =, stfen
(C) eAfvem, wfian, €
(D) e, s, sifrem




Which of the alternatives will
complete the following letter series ?

HIG, LMK,........... , TUS, XYW.
(A) PQO
(B) OPQ
(C) NOP
(D) MNL

Which of the following represents
the correct relationship among

Fruits, Mangoes, Alphanso ?

w((©

()OO
(c>@ O

AUG - 00115/1—D
EcATeIdeht shIUTdT 9aiy feetell 27&) S
o A ?

HIG, LMK,............ , TUS, XYW.
A) PQO
(B) OPQ
(C) NOP

(D) MNL

TICICTUsh! ST T e, 37T, T4

Iedie A G99 SrEfadr 2

w (@

w()()O)
<c>@ O

[P.T.O.
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Use the following table to Y9 oh, 7 9 10 €A WTeiel deRaT=l

answer question Nos. 7 to 10 : ITENT AT

The following table shows the )
Weltel e |1 GeamHed MBA =1

9T TUAHEY dHeed A0 & qhedd
IO oo udteneAter Aifedr foett

distribution of candidates who
appeared for MBA entrance
examination and candidates who
passed the examination in seven AR ?

different institutes.

YT ATSAT 1ALl
Distribution of Candidates
Er) THAAT THAA | STIUT AT
Institutes Appeared Passed
A 22% 18%
A 22% 18%
B 15% 17% B 15% 17%
C 10% 13% C 10% 13%
D 17% 16% D 17% 16%
E 8% 9%
E 8% 9%
F 12% 15%
F 12% 15%
G 16% 12%
Total No.of G 16% 12%
Candidates 8550 5700 T wenedt 8550 5700




What 1s the ratio of passed
candidates to the candidates who
appeared for the examination for

institute A ?

(A) 9: 11
B) 14 : 17
(C) 6: 11
D) 9 : 17

What 1s the percentage of passed
candidates among the candidates
who appeared in institutes B and C

together ?
(A) 68%
(B) 80%
(C) 74%
D) 65%

Which institute has the highest
percentage of candidates passed to

the candidates appeared ?
(A B
(B) C
© F
(D) E

AUG - 00115/1—D
A T FEmEA T I e

qheneffa @ AEOmE) WEe aEe
qRemeffsft sl UK &E AR ?

4 9:11
(B) 14 : 17
(C) 6: 11
D) 9 : 17

B 3701 C A1 GEHed Tehiaaul wiae
FECI q&NATAY deA S0l e
Theeff=t TFhal A ST ?

(A) 68%
(B) 80%
(©) 74%
D) 65%

THEE SHeed Tendiaed Il Sered
el Tahart SIvcal G
Tt g ?

(A) B

B) C
(C) F

D) E

[P.T.O.



10. The number of candidates passed

from institutes A and D together
exceeds the number of candidates
appeared from institutes C and E

together by :
(A) 228
(B) 279
(C) 399
(D) 407

Use the following table to

answer question No. 11 and 12:

Proportion of population of seven

villages in 1997 :

Village | % Population| % Population
below Poverty
Line
M 16 38
N 15 52
0] 11 42
P 16 51
Q 11 49
R 21 46
S 10 58

AUG - 00115/I—D

10. A 301 D =1 SEHEA WIad 390 gieted

Rigneff=t T& g C onfh E o1 Teemme
& sHced Wianefian fed S
Ae ?

(A) 228

(B) 279

(C) 399

D) 407
U9T ok, 11 3IMTUT 12 WS @reitd
TRATE SUANT AT

g TErHETA 1997 HEld dAlnaeid

GHIOT ¢

ME | FARAET %|RGRS @it

THREET %
M 16 38
N 15 52
0] 11 42
P 16 51
Q 11 49
R 21 46
S 10 58




11.

12.

13.

Find the population of village Q if
the population of village M below
poverty line in 1997 is 12160.

(A) 18500

(B) 20500

(C) 22000

(D) 26000

If the population of village P in 1997
1s 32000, then what will be the
population of village N below
poverty line in that year ?

(A) 14100

(B) 15600

(C) 16500

(D) 17000

Which of the following is the correct
chronology of communication
technologies ?

(A) Still Photography, Computer,
Radio, Internet

(B) Radio, Still Photography,
Computer, Internet

(C) Still Photography, Radio,

Computer, Internet
(D) Radio,
Photography, Internet

Computer, Still

11.

12.

13.

AUG - 00115/I—D
M 31 e[ 1997 HEY SIGERY @aid
AREEA 12160 318a, T Q A1 TET=!
TRU Ahden fahdt ?
(A) 18500
(B) 20500
(C) 22000
(D) 26000

P 91 M= 1997 HEe Tehd= ™ 32000
A, I st N o1 Mardie STReaRy

Qrelia dAhaeE fodl o 8a ?
(A) 14100
(B) 15600
(C) 16500
(D) 17000

. . . AN o Y
AP aAAED Clldlcdbenl enlVldl

HATHRA AE AR ?

(A) feer srEnfasor, Tomes, Yfest, setie

(B) fe=q, feer wrnfason, Gioms, setie

(C) Ter wrafas, el Tueh, Sete

(D) fe=q, Grores, feer s, 38

[P.T.O.



14. On the basis of structure and

15.

16.

function identify the odd out from
the following :

Facebook, G-mail, MySpace, Orkut,
Linkedin :

(A) Linkedin

(B) G-mail

(C) MySpace

(D) Facebook

In the context of internet what 1is

the full form of URL ?

(A) User Requested Link

(B) Ultimate Response Location
(C) Unique Request Locator
(D) Universal Resource Locator

Which of the following softwares is
used to process and analyse

quantitative data ?
(A) Quark Express
(B) SPSS

(C) Quant Chrome

(D) SSQN

14.

15.

16.

AUG - 00115/I—D

T 37for s a1 TR eR. @refial e

T SHUN e HEl :

THdE, S-Hd, A, e, foresd
(A) ferresd

(B) Sit-He

(C) H=eH

(D) ®HIF

= Heuld URL a1 SISt olg&
forsmEy =@ ?

(A) TR e faw

(B) efccie et efieny™

(C) Fiter e dheX

(D) FFegda REE bR

AR qed/eR. Yishdl Hi0IEST o

forgeioT HUATEET @efterdeh] ShIoTd

HHHsR o Sd - ?
(A) M T

(B) TH.9.TH.TH.

(C) e ®H

(D) TH.TH.FLTA.

10



17.

18.

19.

In the context of computer based

word processing a typeset/fontset

particularly used for Indian

languages including Hindi and

Marathi which can be easily used

across different softwares and

operating systems without the help

of converter is called as :

(A) Unitype

(B) Indifont

(C) Unicode

(D) Ultiform

In the context of computing and

internet, identify the correct pair

from the following :

(A) TB—Memory Storage Unit

(B) Playstore—Operating system

(C) Pixel—Colour
facility

(D) USB—Antivirus

enhancing

Which one of the following is an
example of in situ conservation of
biological resources ?

(A) Botanical Garden

(B) Zoo

(C) Breeding Centers

(D) National Parks

17.

18.

19.

AUG - 00115/1—D
9 WEHE YA Aol foesem
Sfaaea i Rl SaRfeT
e 89 Aifedsiar ‘shwegel’
A=A HEdIRed & aral 49
RO il Shd WU ?

(A) gferEy
(B) EEiwi<

(A) ISt (TB) — wifgd HISav[h Theh
(B) ==isR — fmfen fa=m

(C) frFa — Tadds giaen

(D) gua.si. (USB) — 3idsrid
WTATAYSh] hIvd SRS T
TS FaE 3T 3G ?

(A) FToI 3™

(B) wroft =™

(C) TS &5
D) T 3T

11

[P.T.O.



20. In which states is Western Ghat is

21.

22.

spread and known for its rich

biodiversity ?

(A) Maharashtra—Rajasthan
(B) Gujarat—-Madhya Pradesh
(C) Karnataka—Telangana

(D) Maharashtra—Karnataka—

Kerala

The solidwaste from hospital 1is

classified as :

(A) Hazardous
(B) Non-hazardous
(C) Compostable
(D) Combustible

Which of the following pairs of air

pollutant causes acid rain ?

(A) Sulphur dioxide—Carbon
dioxide
(B) Oxides of nitrogen—Carbon

monoxide

(C) Sulphur dioxide—Oxides of

nitrogen

(D) Ammonia—Chlorine

AUG - 00115/I—D

20. v fafasd=n =M Tdvew@™ 9f¥=m

21.

22.

e U T T 3R 2

(A) HENSE— USRI

(B) TSRId—HIRT

(C) hATEh — AT

(D) FRRISE—HHiceh—hics

SITRITUITATA TR = ShI0cdl ThId

RTOT hell TR ?
(A) =Tk

(B) 3ok

(C) F=oidl &
(D) ¥ @u

TCATeTUh! SRV Siod aTg= SISl Yoo

I qrd o gl ?

(A) T THATFESH — FHEH SH-
EIESIES)

(B) STeETEEH A® ATISISH—HEA
AR S

(C) HoH SRS — RSy i
RIRESE|

=

(D) SEIFTE—FARA

12
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93. Which of the following is a | 23. Wilcies! HIvM@l WOl IMHER T8 2
herbivorous animal ? (A) 9™
(A) Snake (B) 3@3
(C) Deer
(D) hieel
(D) FOX a N A N £
o4 L b ¢ le h 24. CWIATAYh] KT GhTTHT o=
. Large number of people have - -
8 peop AT 3Tk Clehleal HAd Higdl
serious apprehensions about.............. e I T .
energy. ~ NN I\
(A) HISHMUEA TR shedd! Sl
(A) Fossil fuel ® -
B
(B) Nuclear N
(C) Hydro-electricity © XS
(D) Solar (D) GR et
25. Which one of the following agencies | 25. WTeTeAsh! IO LT 39 fyrerom
regulates Higher Education ? e e 2
(A) MHRD (A) TH.TIE.RE
(B) NCTE (B) TH.G.AE
(0 UGC ©) 7.
@) NCERT D) LR
26. Which one of the following is )
_ _ 26. I=a Torarndia foemeri=a sae@iae
responsible for professional ~ o N oS o 8 o
[EEJSIEIESEICHNERCIHGINEE AR AN
development of teacher’s in the T ?
. L,
Higher Education ? (A) . .33 T—ﬂ.—@. s,
(A) SCERT-SITE
(B) TA.H.E.3MR.3. — M. 3TE.
(B) NCERT-RIE A
(D) UGC-DEB (D) -ﬁgﬁﬁ_gﬁ[gaﬁ
13 [P.T.O.



217.

28.

29.

30.

When was the first Open University
established in the world ?

(A) 1969

(B) 1971

(C) 1980

(D) 1857

Which commission mentioned that
“If we exclude spiritual training in
our institution, we would be untrue
to our whole historical
development” ?

(A) Radhakrishnan Commission
(B) Kothari Commission

(C) Dave Commission

(D) Mudaliar Commission
“INFLIBNET” is :

(A) Research Portal

(B) Learning Resource Portal

(C) Educational Network

(D) Information Library Network
Which one of the following mission
1s related to Higher Education ?
(A) SSA

(B) RUSA

(C) RMSA

(D) EFA

27.

28.

29.

30.

AUG - 00115/I—D
ST 9o Ha fogardiareit TemaHT shegl
el ?
(A) 1969
(B) 1971
(C) 1980
(D) 1857

“IR 3Tl SIS STeATfcHeh
TTRTETO STese] TR ST A Ufaideh
TorenTaTSit @S 319, "' STE1 IV ST
IeTE el g ?

(A) THTFHUE SR

(B) ®ISRI ST

(C) Ta &M

(D) Hefer™@R 3R
“INFLIBNET” % :

(A) FENeE A ST

(B) &9 WiEH WA
(C) Vel Jeas o8

(D) wfEdt Teerd Jeaes 3T

@il ShIod AMI I=o foreromeft
e e ?

(A) TE.TH.T
(B) IRNYTHT
(C) 3M.UH.TH.T.
(D) 3.UH.T

14



31.

When choosing a teaching method,
which of the following is considered

to be the least important ?

(A) Nature of the content being

taught

(B) Available resources

(C) Course objectives

(D) Students’ likes and dislikes

31.

AUG - 00115/I—D

AT Tgdl aed Seielde!

SR TTsr= fa=R shvaT= TS Haid

HH 3 ?

(A) forfaear SO SRR WEY

(B) 39cTed GreH-gri

(C) dreaskA= 3fgse

o o

(D) faeneat=a AEEl-fAa<l

32. oAl STAIAEEA HATH FATHI
32. The best feedback about mis-

arming ie obtained thoeh + | = wE dE ST
(A) diagnostic testing (&) et e
(B) summative evaluation (B) Wik e
(C) objective-based testing (C) Sfeserefd wieror
(D) qualitative evaluation (D) TOMcAs: HoFHTIH

15 [P.T.O.



33.

34.

35.

The question, “Distinguish between
animal cell and plant cell” is based
ONrreerreeeereeeneeenns objective.

(A) Comprehension

(B) Analysis

(C) Synthesis

(D) Evaluation

Students who can effectively express

their thoughts show...........cccoeeeeee.

intelligence.

(A) Emotional

(B) Linguistic

(C) Inter-personal

(D) Cognitive

The factors which most affect the

quality of teaching are :

(A) learner’s abilities, teacher’s
communication skills, teaching
method

(B) teaching method, teacher’s

communication skills, teacher’s

training

(C) teacher’s salary, teacher’s

personality, teacher’s training

(D) classroom environment, use of

audio-visual aids, learners’

intelligence

33.

34.

35.

AUG - 00115/I—D

“ Yot SRITSTSRT o STt ShIfSTeRT AT

(D) YA

VNIR EIRED
(B) i
(C) 3TR-ofereh

(D) sNuTTHF

JEICTIeh! IV Hedh STEATIATAT UTEIeR

Sdld Sied aRomd . shedrd ?

(A) STegghcat=ar &Hdr, feraTehT=i
UG R, AT TS

(B) AR Ugd, ToremeRr=n wywol
hIRTed, forershra wfdneron

(C) forerpren TR, e =afwm <,
et wiRTe

(D) SFTSTATERTT, Toh- $Ted WL aTwR,

SEFTTRAE Qe

16



36.

37.

38.

The most important purpose of home
assignment is to :

(A)
(B)

keep students well engaged
instill habit of hard work in the
students

(C) provide feedback to the teacher
regarding students’ learning
(D) help in better retention of
content

Doing research involves these
steps : (1) stating research objectives
and hypothesis; (2) Methodology;
(3) Identification of research
problem; (4) Collection and analysis
of data; (5) Statement of results and
discussion.

Identify their correct sequence :
A) 1-52-53—-4-5

(B) 4—1-3-2-5

(0) 3515245

D) 2—1-55—-3—-4

The bibliography of a research

report -

(A) lists all the books published on
the topic

(B) lends credibility to the report
and serves as a guide for further
research

(C) includes summaries of

references listed in it
(D) is always written in the format

prescribed by the American

Psychological Association

36.

317.

38.

AUG - 00115/1—D
RIS QUATHRIG Hald Hewral 3e3l

(A) foeneafan =me YR HERd Sl

(B) foeneafn s Svam=l Fag Aeo

(C) Torerspr faeneat=a STeagATaTad
TSR Ol

(D) TR AT HRON A Hed
O

TENET A (1) WENEAET e T

SRR TRIae; (2) dSiaeme; (3)

TINEA gEE f@En; (4) Heem

T[UTTCHeh /HE&ATcHh HIfgd I oseTsIoT shivl;

(5) wfaae ==icds fag=q &

o SerEl SYAN el Sl = A

ShH Mdl

A) 1523545

B) 45153525

(C) 3515245

D) 2-51-55—3—-4

TEE GeYd Searere HeH

(A) g @ favErer g |e
qEhr= ARl foerel o ed

(B) STEHATRS T STeaTend fasamardan
T BId a9d Jeid HRieAEe!
RIS B

(C) T=a THeie Jish He = dReT
feoten o9l

(D) sreHara faemn wed THfET
arEsTaifaea sraifyreeE+
SUaeiedl IgdIgaRd shal Sd

17

[P.T.O.



39.

40.

41.

42.

No hypothesis can be stated in........

terms.

(A) directional

(B) declarative

(C) null and interrogative
(D) general

The F-test :

(A) is basically one-sided
(B) is basically two-sided

(C) can be either, depending on the
hypothesis

(D) can never be two-sided

Experimental research can be :
(A)
(B)
(C)
(D)

easily generalized
easily analyzed
easily planned
precisely controlled

The quality of a research journal is

indicated by its............... .
A)
(B)
(©

hindex
gindex

/o score

(D) impact factor

39.

40.

41.

42.
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Foel el
HrEd 4 e
(A) fewmeeis
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(A) Aindex
(B) grindex
(C) i/o score

(D) impact factor
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Answer question Nos. 43 to 48
based on either the English

passage or the Marathi passage:

Parents have to develop the habit
of thinking in terms of ‘we’, not
‘me’. Think about the whole family.
Some conventional, orthodox men
feel they are the heads of the
families. So it’s their right to get
all the advantages, privileges etc.
Similarly some modern women
think that ‘Gone are the days. Now
we are working and earning by
shoulder to shoulder to men. Hence
the women should get the equal or
sometimes even more advantages
and privileges’. Both such types of
parents do not have ‘we’-feeling.
Family-oriented men and women
would think of the whole family as

a unit, the advantages as well as

AUG - 00115/1—D
T o, 43 O 48 ¥ Y feeiedn sarama
smertfiia er@d. sUSdter fean
TS Sarareaiial gy 3T

S |

TG STeadTh AT T=el Fovema!
Jee feet anifor safvrsi=n et Sieqas
o Al YR FSGUAET ] shedl. Al
HeHld sheles W=l foem el ol QR

A FUS! B AgTl Wi 3. g fae

qUGIal A8 THITERl Heyat=A

A Faadd AR, o Jgarel e

qUId dadciedl g "o fafgal el 3R,

TS K Sold qd AEE o JHeTa

FfFaae g T Ad. IV
e W=gT AU aTIRul WU ot

ST HTSTA TR SoAehe drgul
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troubles of each and every
individual member in the family.
Thus in any interpersonal
relationship—between spouses,
between parents and children, and
between children—the thinking
should be of ‘win-win’ type. The
habit-formation should start from
parents. Naturally the children will
receive and absorb the same

method of behaving.

When we listen with the intent to
understand others, we begin true
communication and relationship
building. Generally parents go on
ordering, dictating, coercing the
child without listening to him/her.
Hence there 1is no two-way
communication between parents
and children. One-way ordering and
the other-way obeying or
disobeying is generally observed in

the society. Even in parent-child

AUG - 00115/I—D
sa. fafay Sd-weeET 9 aReRET

TS F9=1 9 FgUl 378, 9U AR e

qifgcaedagrd df Arehiell Toll sidl.

0eTdg SHTS U oATgATor, ‘s

TSI HIGHIGH TEgr, SSHRie! —

TR fafay wegE, Sterehe Jerart

g%l 9 Ugd - TdQd Aeg, @ Al

S IERE TG M I S | PR C NG

dfgshd holl STAd—T FHSTA Teh-

YRl STCTHR ASHAA AfE= &6

e W= ST whel. a1 TRdehiAl

fafea s enfor siet A 7R HHI

NN N d Y (o
nel. ol Aldiqda Hllal  Hifecldl

fala

STHIRIHEd SHAHY-AI

VAT AR~

FHIOMATA  ASUD HHT FTA. I
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43.

relationship, it’s better if parents
first listen to children, observe their
expressions, behaviour. Here they
try to understand the child. Now
it’s likely that their reaction would
be in line with the child’s ability
and expectation. In fact, parents
have to remember that Success
definitely deserves a hug, but
Failure needs an even tighter
embrace.

Some conventional men think

that :

(A) they must take all the decisions

in the family

(B) women should get equal

advantages and privileges

(C) they must have all the
conveniences and advantages

in the family

(D) everyone in the family must

obey them

43.
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44.

45.

46.

Thinking in terms of ‘we’ means

thinking about :

(A) the family

(B) the nation

(C) both men and women
(D) the society

Which of the following statements

1s true ?
A)
(B)

Orthodox men have ‘we’-feeling

Children learn methods of

behaviour from their parents

(©)

Parents and children must have

a friendly relationship

(D) The habit formation in the

family should start from grand-

parents

True communication and

relationship building begin with :
(A) ordering and dictating

(B) ordering and obeying

(C) expecting and speaking

(D) listening and understanding

44.

45.

46.
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47.

48.

49.

If parents try to understand the
child, their reactions will be in

consonance with the child’s :
(A) behaviour

(B) achievements

(C) abilities

(D) ambitions

The most appropriate title for the

passage is :

(A) The parent-child relationship

and the family
(B)
(©

(D)

The compulsions of family life
True relationship building

Success and failure in the

family

Which of the following is not an

example of non-verbal

communication ?

(A) Letter Writing
(B) Facial Expression
(C) Pace of Speaking

(D) Silence

417.

48.

49.
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Scioal ATIHes ITear=l aT HHT STl
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50. On which criteria communication

51.

can be classified into ‘Intra-
personal’, ‘Inter-personal’, ‘group’

and ‘mass’ communication ?
A)
B

Medium of communication

Number of participants in

communication

(©)

(D)

Message of communication
Purpose of communication

Which of the following is the most
correct description of ‘breaking news’

in the context of news-channel ?

(A) A news mainly about a shocking

or violent event

(B) A news mainly based on
pictures taken by hidden

camera

(C) A short and developing news
about an important event just

discovered

(D) A precise news focusing on
investigation of political

corruption

AUG - 00115/I—D

50. HIUTHT THRSIT=AT SIEM WITIATS

51.

‘TG-dare ' S e Halg, TeHA
T SHEAYA 3T IR0 Hidl I 2

(A) A HEEH

(B) WU WEHRl SHeRiTel HE
(C) T Has1 A1 SRE
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52.

53.

54.

What is the significance of the 1980s

in the context of television in India ?

(4)

Television transmission began

in India

(B)

DTH services for television

began in India

(C) Rapid

Doordarshan’s network

expansion of

(D) Privately owned TV channels

were allowed in India

The round table sitting arrangement
in a typical conference room

facilitates :
(A) one-directional communication

(B)

more 1nteractive communi-

cation amongst participants
(©

(D) bottoms-up communication

top-down communication

What communicative dimensions are
added when PowerPoint presen-

tation 1s used in teaching ?
(A) Only visual
(B) Only Audio
(C) Audio as well as visual

(D) Audio, Visual and Interactive

52.

53.

54.
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55.

56.

Consider the following code words

for the fruits

Banana — 010, Apple — 111,
Mango — 101. By the nearest
decoding procedure the codeword

000 will be decoded to :
(A) Banana

(B) Apple

(C) Mango

(D) Either Apple or Mango

Which of the following is zrue for the

real numbers m and 2 ?

(A) m and 2 both are rational

numbers
(B) n + 2 is a rational number

T

(C) 2= and NG

are not real

numbers

(D) m?is irrational for every natural

number n

55.

56.
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1 1
57. Suppose x; = 10, x5 = x7 + To’ = , | B7. WHST x; = 10, x5 = x7 + o ,
1 . 1 AN A NN
Xpq = X5t 10F - Then which of the Xp = Xt 0% SIRCISISEEIREINE
following is not true ? fau™ e e ?
(A) No two terms of the sequence (A) T TR B O g
are equal
a A AR
(B) At least one term of the
sequence 1s larger than 10.1112 (B) =1 WEAMTAAIA THAT FEAT
(C) The sequence is strictly 10.1112 T& Wt 378
increasing (C) & GEAMETeAl HHIT: ded ORI 3118
(D) Every term of the sequence is . . ..
(D) Il HEAMTANT Jcdsh "eql 11.11
less than 11.11.
58. Assume that human beings will R e
survive on the earth for infinity. | 58. &1 YAceR 3Td hiedIadd HITeSIA fSferd
Then : RUGEICEE
(A) There is a person whose family ) )
. . . (A) THIA Tl 968 TS
line will never terminate
(B) Everyones family line may get Tl
terminated n .
(B) Qcdeh(dl dRIIded CWsld gl Rlend
(C) At least 50% of the present
person’s family line will not be (C) =Hld ®H 50% oHeKil=l SR
terminated 3@@3 T'%Q'H
(D) At most 50% of the present
. oo
person’s family line will not be (D) STt STRG 50% eerdr= Seees
terminated TTEd eI
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59.

60.

Three boys {b;, by, bs} and three
girls g7, gy, g3} are registered in a
marriage bureau. Suppose each boy
wishes to marry a girl of his choice.
In which of the following situations
will each boy get married to a girl

of his choice.

(A) by likes gy, by likes g7, g} and

bg likes gy

(B) by likes {gl, gg}, by likes g3 and

bg likes gy

(C) by likes gy, b, likes {2y, g5} and

bg likes g5

(D) b, likes gy, by likes {gy, g5) and
bg likes gy

Suppose that in an organization
every teacher is a scientist; every

scientist who 1s not a teacher is an

engineer. Therefore :

(A) every engineer is a scientist
(B)
(©

every teacher is an engineer

every scientist is either a

teacher or an engineer

(D)

no teacher is an engineer

59.

60.
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